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General Instructions :

1.

S

Page 1 of 10

The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each

question is of two marks.



HIT-3A / SECTION-A
1 =1 Aiftrent & gt we fafaw:
() CH;—CH,—-CH,—- COOH
(ii) CH;—CO-CH2—CHs
Name the functional group present in the following compounds :
() CH;—CH,; - CH, - COOH
(ii) CH;—CO-CH2—CHs
2 S8 3R TSI I & &I o T ST U< ki M ferfiaw |
Name the term used for the traits that are exhibited externally .
3 I A1 Tk &TcTeh T fafea |
Give one protective function of forests.
4 T AfR gfte 39 § difed ¥ 3R 38 QW & fau-1D «mdt & o9 &1 J40 I &1 39 gfe I
1 94 fafee f5ad 9 difed T iR 38 @ oA & fow ygaa fw T ofg =1 R fafae)
A person suffering from an eye-defect uses lenses of power - 1D to correct the defect. Name
the defect he is suffering from and the nature of lens to be used to correct it.

5 TS <l = % < YR o R'F A § 2
What do the 3 R’s to save the environment refer to ?

6 FITS], ©T , REH AU e-STURTE H1 YA: =hUT 3 THI W fHa1 Sar @1 YA: =hor Uik a1 1
AT TR HATHE SATE fafaw |

Recycling of paper, metal, plastic and e-waste is done at most of the places. Mention the
positive impact of this recycling process on environment.

s R DA s sy L
I oo faeEm

e A St B o 1 By forer & o A e A A T 2 T A §
TOIRA TR h1E YRed Tl Il W @t B H TefiF ToRA W faerad TiH 2 < €1

() W iR SE Sa & A et fafed |

(i) 39 A4ihAT 1 TR ferfEw |

(i) @I ‘B’ H S Sl 1 TR 81 S Wl R fafa |

L2 «<4—Brown F-22s#—colour less
-] colour F-222 solution
-2/ solution o Sior

A B

Test tubes A and B initially have brown color solution known as bromine water. On passing
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methane in test tube A, there is no change whereas on passing ethene in test tube B
decolorization of bromine water takes place.

(i) Write the reaction between ethene and bromine water.

(if) State the type of reaction.

(iii)  Account for the decolorization of bromine water in test tube ‘B’.

8 WS 3Tl ShT ST FANTRTe § fohan S € Sfer shrsiioteresh o, S fon foran, &1 wam e=R 3
amfe & fau ufRers & &9 o fan s 7
()  EFeEd R goa o il § Safh gRgeRiiie o T Jad o7 8 ?
(i) o i qam wifere TEifesw sma @ wifSw )

Mineral acids are used in laboratory but carboxylic acid like vinegar is used as a preservative

in pickles.
(i) Explain. Why vinegar is a weak acid while hydrochloric acid is a strong acid?
(if) Compare vinegar with glacial acetic acid.

9 TREISH, SisH IR RS U, Ud® & fau vegarst sery &1 fmin goaglq foig g 3
SR YUy |

Explain the formation of covalent bond by electron dot structure for Hydrogen, oxygen,
nitrogen molecules.

10 He(2), Ne(10), Ar(18) STefTeh STrerd TROT < Tk & 99 § W@ TS | 3
(a) U A 1 A fArET |
(b) Yk dcd ol SersreA o= fafEw |
He (2); Ne (10) and Ar (18) belong to the same group in the modern periodic table

(@) Name the period of each element.
(b Write the electronic configuration of each element.

@)  TH I H YT S B R W9 AT TRt Bt § 2 3
(b) TR fawmgmes F=i G § ?

() 9 Hed 3 Tk oo WH FI T A U F HoRgoT HIAT A RIE A HT TS HT U S0
T2 g1 36 oA o e 3faa oo fafaw |

11

(@) In a couple what is the % possibility of having daughters ?

(b) “Males are heterogametic.” Why ?

() When Mendel crossed a tall plant with a dwarf plant, no medium height plants were
produced. Give a suitable reason for this statement.

12 TS Y Ry <ifed | foret el & safeaal 1 Yrifaes 2Terma 98 SIS sl 3= am, 3
75 fog % & fou s Sugea =aren G |

Define species. Provide a suitable explanation to prove that geographical isolation of
individuals of a species lead to formation of new species.

13 =1 fort =l qu =i 3
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(b)  TH UfHAT bl TAT Siiel shl TE=HT |

Complete the following diagram :
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(@) Draw steps “a” and “b”.
(b) Identify the process and the organism.
e o ek & <1 e iferg -

(@ W o weRfert gor g €
(b) TRV A A ARh

€  h AR iRl | Aoy § 3H Al SAE IR e |
Give two examples each of the following :

) Plants having unisexual flowers

(
(b) Agents of pollination

() Physical changes on puberty that are common to both boys are girls
(

(

o Q

a)  UE A S foR S uered @ fae wg o Sta § gon | fewmt it
by frE wHmfa 3 wHe w1 fofym sTwfddl W 3mSR B "ern

(@) The living matter seems to have come into being in sea water.Comment.
(b) Which vegetable helped humans to generate different vegetables by selection ?

Tuggd fop Yo ufeass o wiafawsi o1 ford whr Aftq oar & 3iX afass fvd 9hR gwaan
T S T T |

Explain howretina sends images to the brain and how brain helps in producing a sense of
vision.

ARNERY 3R SR < | faded wifSu | fortor gl g o J9eEd |

Differentiate between converging and diverging lenses. Explain with the help of ray
diagrams.

39 A9 TS < &5 H gHM 1 AHE IR W MHhRS IHE’ W T SAEIH AT hid hi
IS & R 2
(@) I A FRON FI G I SH 9 AR I TEAd HL I foh gUIH H1 AT IR T
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BT FTe Tl § |
(b)  STU 3H FHETAMY ¥ 39 &E 0F godi, = T M o faw o9 3% 9Ra &4, fafed |

You plan to organise a campaign on ‘Harmful effects of Smoking on human health” in your
neighbourhood areas and guide them.

(@) List any three reasons that you will give to convince the people about harmful effects
of Smoking on human health ?
(b) List any three values that are inculcated with such approach ?

19 "R STEd | ST AR ok e oTeng § 1
@) TH T H 9N H TN SR W W TAFH TgU A 1 ygfd | ufiedq w1 fafaw) e
ST 1 HRT Hied gt HifST |
(b)  NIIRFH G foraen v siferek faega Rometes M iR @41 ?
“Elements towards the right of every period are non-metals.”
(@) Comment upon the gradation of tendency of gain electrons as we move from left to

right in a period. Justify the answer with reason.
(b) Out of N and F, which atom do you think will be more electronegative and why ?

20 TS Uiet ST aTel Ui Bt &R st et WS @ HeRdor Sy S B |
(a) 1 IE ITELUT Ueh Hehd o1 37l fg Herd Hehil h1 € 7
(b)  F, et H Wiy e ?
(©)  Fp WE § WHIeRY qe1 SH1ersy Sl ST 11 © 2
(d)  HHH U foshedt TeIun 1 Sirel forn ST gehdl § 2
Pure yellow seeded plant is crossed with green seeded plant.

(@) Is this an example of monohybrid or dihybrid cross ?
(b) What is the phenotype in F1 generation ?

() What is the ratio of phenotype and genotype in F5 generation ?

(d) Which other contrasting trait pair can be taken ?
21 (a) ’ :

Fig. A Fig. B
(b) Tt AT SH 9 &1 99 fafed s TSR Scuel il & |
() o AT 39 w1 A fafer s gep] @R g7 &1 svaftss frid ant weam 71
(d) ot B H @ v 1 T fafay S sig w6 TaivE 9% o S 1 fikr fam #)

(a) Identify the diagrams given below :
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Fig. A Fig. B

(b) Name the part in fig. A that is responsible for production of testosterone.
(c) Identify the part in fig. A that is called as the common exit point for sperms and urine.
(d) Name the part in fig. B that plays a role in carrying the egg to the uterus.

22 (a) TR % UEcE & fom fafau ) STaE ior F S SR SIS IV HY SAT h STIIE Bl 5
fohg 19 | ST 8 2
(b) B H STUSIR 2.42 B 1 TH HH H1 1 AGd §? afg Ag H TR H1 AT 3% 108ms — 1 &
1 R H THHRI o FId HIT

(@) Write the laws of refraction of light. What is the ratio of the sine of the angle of
incidence to the sine of the angle of refraction commonly known as ?
(b) What is meant by statement that refractive index of diamond is
2.42 ? If the velocity of light in air is 3 X 108 ms ~1, find velocity of light in diamond ?

23 () o @ Eiaed FAeEY fF vod YT gRI Scqel TaeH 1 GHAiSH fohd YR feram sm 5
HRA1 B |
(b) g A 39 YA 9 freend fehren ?
(@) With the help of a ray diagram explain how the recombination of the spectrum of

white light can be done.
(b) State the inference drawn by Newton from this experiment ?

24 T 9% 10 cm HIRH T o TEad U ¥ 10 e X W 71 wfafera i frufa ok yshfa 9@ 5
Shifsra | gfdfsra i A1 9 o fau oo fo Sifa | (A9 o ST aR &)

An object is placed at 10 cm from a concave mirror of focal length 10 cm. Find the position
and nature of image formed. Draw ray diagram to illustrate the formation of image. (not to

scale).
HIIT-d/ SECTION - B

25 AT B AT ST ol e[ Sl S &1 T8 8 - 1

(a)  YHIEH HIeA i T8 SUgH

(b)  HERH

(€  HF % fau Iuge T TeM & foau sugeE T

(d)  THaH

The soap prepared in the laboratory is crude soap. Itis:

(@) fit to use as toilet soap

(b) corrosive

(o) fit for washing but not for bathing

(d) non-corrosive
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26 IR YT & SR $© A1 H Hifedd FaRSS 1 SIal 981 2l ¢ : 1

(a)  HIH I e H | (b)  HEA & ISR T |
(c)  WIEH % Seflehior 4 | (d) A % SFEEH |
During Saponification, addition of some amount of sodium chloride helps in :
(@) dissolving the soap (b) neutralising the soap
(c) hydrolysing the soap (d) precipitating the soap
27 5@ uered & S % FRUT HSR ST T IS T Hic Bl € I8 & 1
(@ = (b) ~ FAEE
()  freter (d) A
Washing with soap is difficult in hard water due to the formation of the substracts:
(@) foam (b) colloid
() suspension (d) scum
28 foRdll sTardel TUOT i HIhd g I L & FAM H oTeu o Aed Th U Si=n 7971 = fqu 7w 1
TR H & HE AT 1 FAE Hi ?

— <
—> <

(A) (B)

— <
— <

—u —u
©) (D)
(@ A (b) B @ ¢ @ D
In an experiment to find the focal length of a concave mirror, a graph is drawn between v and
u. Choose the correct graph from the graphs given below ?

A A

— <
—> <

A4
Y
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© (D)
@ A (b) B © C d D
29 Teh B A GANRIET | 39 | 1 39AN hid 8T Ua W faeshl =t firal o1 gfafde gra fram 9d 1
R T gidfde g s o T o9 o1 3T 6 fman T sga 9Romm 9 i o T steamas
ﬁaﬁuﬁa@mmﬁwwﬁma@%:
(@) TasHhl W@ T IE ||
(b) TaeHl F i W@ T dg W)
€ &R H WU W
(d)  TH I AW
A student obtained an image of the grill of a window in the laboratory on a screen, using a

convex lens. Lens was moved for this purpose to get a sharp image on the screen. For getting
better results , her teacher suggested to focus :

(@) a pot lying on the window
(b) a plant just inside the window
() an indoor plant in the room

(d) a distant tree
30 fohelt BT = SAFARR 1= o TIe A ToRA! ThTeT shi ShT0T T 9T MU 10T 40°, 50°, 60° % ferdr 1

Yerch-Yerh INMEd fohal | SHH efareiien feran fon atmafaa fereor qen ffa feneor siter =t ervarera gl
‘d’:

(@)  3T9ad o H gig | =g W B
(b) A9 1o B gfg A = A B
() Gt i Hoi & ford q9E @t B
(d) T S ¥ IR iR we S 7
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A student traces the path of a ray of light through a rectangular glass slab for angles of incidence 40°,
50° 60° separately. He observed that the perpendicular distance ‘d’ between the incident ray and
emergent ray :

(a) increases with increase in angle of incidence.
(b) decreases with increase in angle of incidence.
(c) remaines the same for all the three angles.
(d) first increases and then decreases.
31 e fret wenmer i foror 01 fafier staa sivil (30° @ &1 &) & w9 & FemsRr fsg | emafag 1
B fean S, a1 wes 3Taas I & T

@) fomem s i g

(b)  fo=er o 99E gRT |

(c)  SAT9dH I H gig ¥ fo=a vl shaet se |

(d)  3ATIdH R FI TgH 9 fI=T FIV hael FHH T

If a light-ray is allowed to fall on the triangular glass prism at different angles of incidence

(but not less than 30°) then for each angle of
incidence :
(@) the angle of deviation will be different.
(b) the angle of deviation will be same.
() angle of deviation only increases with increase in angle of incidence.
(d) angle of deviation only decreases with increase in angle of incidence.
32 ES 337 o fore 39-wg ol g o 8 7 1

(a)  ©Ig % TR, Y&l o 9E
(b) e % U@, WA & ARA
()  H s e, vl & 4=
(d)  HIE % R, HHG o IR

Select the mismatched group for homologous organs :

(@) forelimbs of horse, wings of bird
(b) wings of insect, flippers of seal
(o) flippers of seal, wings of birds
(d) forelimbs of horse, forearms of man
33 feaisisit sfiist o1 98 9T S 9fas & Uig ol oy 9 TeRid Fai g T8 e : 1
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(@)  SISTOEER (b)  FAE

© g (d) SIS

The part of a dicot seed which represents the miniature of the future plant is :
(@) Hypocotyls (b) Radicle

() Embryo (d) Epicotyls

34 THifew s Tk TTEH g9 © e w1y 6 1 Ig vl mensli # S § faom ¥ 9% 9w faena 2
! el LAl § q1 Wfead BRSISH wEiHe faee § S W CO, 19 Sdfd & g1 wdifes
ST ok YOI ok Tt § IWIsK kel H 9 3RS HYA/HYA Bl AT HIFST T TGTER 3TH ST
gRerd i |
Acetic acid is a colourless liquid without any odour. It is miscible in water in all proportions.
It turns red litmus to blue and evolves CO, gas when added to sodium hydorgen carbonate

solution. Identify the incorrect statement(s) in the above description given about the
properties of acetic acid making necessary corrections accordingly.

35 fordl Yawgell 9§ A & Yo il TR WS *l <@ < foa fafy o = = fafed | 2

Write the four stages of procedure while observing the permanent slide of budding in yeast in
a microscope.

36 few T ferzor e H fawst PQ 1 34 o9 L, L, % |IHA T 71 € | 398 &9 & F, AM1F, & hihy 2
U9 F,0F, T&1 511 € |

L

Q 1

A

P 2F1 Fl v F2 2F2

Ly
39 o9 g 9ead < gvEd Uidfersl shi feafd s e & fau foto i@ skl qoi Sifsa ) | &
o e gfafars < A i o ST |
In the ray diagram PQ is an object placed in front of convex lens L, L,. F; and F, are two foci
and F,OF, is principal axis.
Q /I_J\l
P2F, F; 9 F, 2F,
L,
Complete the ray diagram to locate the position of image formed after refraction through it.
Also compare the size of object and the image.
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